trans-1:

trans-2:

trans-3:

Simple Transitive

3Mfah fopaTe uem

Atif kitab paDh.egaa

Atif  book.f read.m.sg.fut
‘Atif will read the book'

e = fhdre udh

Atif ne kitaab paDh.ii

Atif erg book.f read.f.sg.pst
‘Atif read the book'

3P Y fohdTe ueHT us!

Atif ko kitaab paDh.nii pabD.ii

Atif dat book.f read.f.inf compel.f.pst
‘Atif had to read the book'



unerg-1.

unerg-2

unerg-3

Intransitive

31Tt AT

Atif soyegaa
Atif sleep.m.sg.fut
‘Atif will sleep’

*3Tfcres =1 AR

*Atif ne soyaa

Atif erg sleep.m.sg.pst
'Atif slept’

3TFI 1 AT TS

Atif ko sonaa paD.egaa

Atif dat sleep.inf compel.fut
‘Atif will have to sleep’

- Unergative



Intransitive: Unaccusative

unacc-1l. &Ramm el

darvaazaa khulegaa

door.m.sg.d open.m.sg.fut
‘The door will open'

unacc-2: *<=awt A gall

*darvaaze ne khulaa

door.m.sg.obl erg open.pst
‘The door opened'

unacc-3:  SArSl Bl Gl UST

darvaaze ko khulnaa paD.egaa

door.m.sg.obl dat open.inf compel.fut
‘The door will have to open'



Existential

exist-1: SAFRARE
us kamre mein cuhe hain

that room in rats be.prst.pl
‘There are rats in that room’



Dative Subject

unacc-4: oo Id dicel 3 9le e

kal raat baadaloM mein caaMd dikhaa

yesterday night clouds In moon see(unacc).pst
‘Yesterday night, the moon was seen behind the clouds'

dat-sbuj-1: @ a areal d gt gls o
kal raat baadaloM mein mujhko caaMd dikhaa

yesterday night clouds in me.dat moon see(unacc).pst
‘Yesterday night, | saw the moon behind the clouds'



Ditransitive

ditrans-1: <= 9189 &I fhae &

raam mohan ko kitaab degaa

Ram Mohan dat book.f give.m.sg.fut
'Ram gave a book to Mohan'

ditrans-2: Y9 9 Agq ! fhae St

raam ne mohan ko kitaab dii

Ram erg Mohan dat book.f give.f.sg.pst
'Ram gave a book to Mohan'



Complement Clause/Relative Clause

compl-cl-1: 3= S=ar g i iar o= 9 et

raam jaantaa hali Ki siita der se aayegqii

Ram know.hab.m.sg be.sg.pres that Sita Ilate part come.f.sg.fut
'Ram knows that Sita will arrive late'

rel-cl-1: a4 987 St feeht o &<t € o oM & ©
merii bahan jo dillii mein rahtii hali kal aa

My sister who Delhi in
rahii  hai
prog.f.sg be.sg.pres

stay.hab.f.sg be.sg.pres tomorrow come

'‘My sister who stays in Delhi is coming tomorrow'



rel-cl-2:

rel-cl-3:

rel-cl-4;:

Relative Clause

79 g forea S gA= <1 oft ug &t
maine vah kitaab jo tumne dii thii paDh. lii
l.erg that book.f  which you.erg give.f.sg.pst be.f.sg.pstread refl.f.sg.pst

'l have read the book which you gave me'

59 g8 fohare ug ot St g <F off
maine vah kitaab paDh. lii jo tumne dii thii

l.erg that book.f read refl.f.sg.pst which you.erg give.f.sg.pst be.f.sg.pst
'l have read the book which you gave me'

SiI fararre g &t off a8 H4 ug ol
jo kitaab tumne dii thii vah maine paDh. i

which book.f you.erg give.f.sg.pst be.f.sg.pst that l.erg read refl.f.sg.pst
'l have read the book which you gave me'



Complex Predicate

compl-pred-1: 3™ Aq & uchar @R a7 o

raam ravi kil pratikshaa kar rahaa thaa

Ram Ravi gen wait do prog.m.sg be.m.sg.pst
'Ram was waiting for Ravi'

compl-pred-2: I (d &1 I1e R @ o

raam ravi ko yaad kar rahaa thaa
Ram Ravi acc remember do prog.m.sg be.m.sg.pst
'Ram was remembering Ravi'



Causatives

unerg-1. 3dH J@T

Atif  soyegaa
Atif sleep.m.sq.fut
‘Atif will sleep’

N (@GN N
causative-1: 3T THIAhH TAH
aayaa ne Atif ko sulaayaa
maid erg Atif acc sleep.caus.pst
‘The maid caused the child to sleep’

. = 2aN N o
causative-2: H =1 3H H I LAY
maaN ne aayaa se Atif ko sulvaayaa

mother erg maid by Atif acc sleep.caus.pst
‘The mother made the maid to cause the child to sleep.’
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